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% g - AKTiE Bifr B 2 B i & #B w E
EEIEE 40, 006, 462
MiEIER 5 511,480 + 10,291, 606 15, 803, 086
HBEREE GD 1,473,024 + 3,662,025 + 376, 431 5,511,480
HBERHE (BLE) 1,473,024
HBERER (F) 40,916,482 x 8.95% ((7.27% x1.00 +1.50%) x 1.02) 3,662,025
BERERER 40,916,482 x 0.92% 376, 431
RnEER 45,517,942 x 22.61% ((20.81% +1.14%) x 1.03) 10, 291, 606
e i 40,006, 462 + 15,803, 086 55, 809, 548
—REEES 55,809,548 x 18.36% (18.36% x 1.00) — 8, 504 10, 238,129
RFIIRELE 55,809, 548 x 0.04% 22,323
T &l 55,809, 548 + 10,238,129 + 22,323 66, 070, 000
HBETEALE 66,070,000 x 10.00% 6, 607, 000
EEIZE 66,070,000 + 6, 607, 000 72, 677, 000
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£ g - AKTiE B H = B & 8 m =

BEEISE 40, 006, 462
e (-10m) (HKE) 40, 006, 462
T 40, 006, 462
TREERE - B 40, 006, 462
REXHWHE 20, 740, 272
1 RELHHE 7,262.00 2, 856 20, 740, 272

m 3
R ITHERA - Efk 19, 266, 190
2 BR 5, 823.00 275.3 1,603, 071

m 3
3 FEAW-1) 5,823.00 234.9 1,367, 822

m 3
4 TRYEEH (1) EEWINIE 2,912.00 2,430 7,076, 160

m 3
5 THEER (2) EETREE 2,911.00 3,038 8,843,618

m 3
6 Eifh 2,911.00 129 375,519

m 3
HEBREE FEL) 1,473,024
HBRZE 1,473,024
EXBRIEEEE 910, 020
REX® 910, 020
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% L] His - BAIKTHE AL - B ® # m =

1T AHER 1.00 478, 560 478, 560

=
8 KRNy VEH 1.00 431, 460 431, 460

=
] 443, 004
TEXE 443, 004
9 RBHFEERE 1.00 443,004 443, 004

=
RifTEEE 120, 000
il EE 120, 000
10 EREDHRNE 1.00 120, 000 120, 000
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£ 7 R - KT By B = B Of € # B &
HEER
A 1.000 30, 700. 00 30, 700
LEEXE
A 2.000 23, 560. 00 47,120
RHES
B 1.000 214,003. 00 214,003
EMe# kR
B 1.000 109, 041. 00 109, 041
E{t 4t E£R7IR (hER2A4 )
t 17. 500 31, 500. 00 551, 250
AR L NOY
% 5.000 952, 114. 00 47, 605
= 5 1E%HEH : 350.00m 3 2,856.00 999, 719
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£ 7 R - KT By B = B Of € # B &
B
m3 1.000 275.3 275.3
= 5 1E%HEH : 1.00m 3 275.3 275.3
%5 :3
B A1) Tm334yY
£ 7 R - KT By B = B Of € # B =
A (h-27)
m3 1.000 234.9 234.9
= it 1E%HEH : 1.00m 3 234.9 234.9




Rifiz -/ \v7r—o

FMTFEEZ B L ECOE BT E (F2R)

&S 4
&% TREER (1) EEFHIE 100m3% Y (100m 3)
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B 4.000 60, 764. 00 243, 056
= it 1E%HEH : 100.00m 3 2,430.00 243, 056
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B 5. 000 60, 764. 00 303, 820
= it 1E%HEH : 100.00m 3 3,038.00 303, 820
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Hih
m3 1.000 129 129
= 5 1E%HEH : 1.00m 3 129 129
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S
A 29.00 16, 420. 00 476, 180
AR L NOY
% 0.50 476, 180. 00 2,380
= 5 1YE%HeH - 1.00K 478, 560. 00 478, 560
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HERRX /NNy VEH
= 47.00 9, 180. 00 431, 460
& F fE8EH ¢ 1.00% 431, 460. 00 431, 460
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2% RBFEERE X5y
% FR & - IR B 2 B ' # 1 w =
XBFEEREB
A 29.00 15, 200. 00 440, 800
MM EXENOY
% 0.50 440, 800. 00 2,204
a & 1E5AEH : 1. 00K 443, 004. 00 443,004
H5:10
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% FR A& - IR B 2 B ' # 1 w =
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I=% 1.00 120, 000. 00 120, 000
& &t fE8EH : 1.00% 120, 000. 00 120, 000




